


CRILEEER

3

AD
i
N

%ﬂ%ﬂ%ﬂ

2.

Y7o

M~ o

|

0 S

— e

N



@ 5+4

@ 12+3

D 22+7

® 15=8

@ 1+4



4.

8 AN 2.




1
3

® 7+5x%x

@ 5+3=+7
® 5+7+3

n =M

10 [ D=1 [ D=

©@ ©



== ARtstA L,

5,3

6 7

11 2 13
1— 1= 1=
O 42 @ 7 ® 42




7.

Oa= Al 2.

2 1
4Z + 32
7%
5 11 6 11
© 72 @73 ® 72 @ 877 ® 8-




8.

Oa= Al 2.

12 42
7 5

5 21 19 22

© 435 @8 ® 25, @ 652

22
35




9.

oW %ol 35 & Y 6 o]
79
1 1

1
© 33 @35 ® 3¢



10. Ha& AXSAL.







5
6

@ 18 x

3
4
1
3

® 18x

@ 12 x

3
5
3
8

D 15x
@ 16 x



® 38— kg



)

L 4y7t?

3 1
- L 1-L
@ ) @ 2

4
- L

®91
7-L

©3

13-L
@ 2



15. Ha& AXsA L.

4 1
19— 11—
w 5 @ 5




i

J

N
<Jo

!

=<
475
[a\ Il Eap]

[ap]

©
NN
CECY
— [N ™
[xp] [ap]
Q@ ©
ﬂu‘_ ﬂﬂ_
CECY
M [NA |
N [ap]
Q@ @



17.

HoA gAl=7E2 2] A2ls HolM Y7o A2 Et B km T
75U

= = m
LA =+ A He
gy o7 9 T
7km 1o km
1 4 33
= - Ok
@ legkm @ {;{m ® o m
@® —km ® —km



18. ol 7192l b2 30 cm, Al 2] em I o] A2

| 9] ool ge 5L,

7 7 7
@ 62—07(:111 @ 61—07(3111 ©) 12% cm
@ 121—0 cm ® 24% cm



19. = A7) % o 9ole AT, w7

A1) S ol 1A% A

Qo= A 44 ghe BB W A o] dutely7t?

5 11 4
8 O @5 9Of



SL = 1
20. w3l ool 25 km M +9S

=

Azl 2 km QYY7p?

@2% km @ 3 km
@G%km @71km



21.

al

2,
B
e
i,
i)
N
N
rlu
>,\l

HE AR 7|28 24 2.

@) ;3><31 (™) §><77 © 2x1§
® 1gx3 @ 7x3

D B0 66,0 ® ©,0,0,0,6
® 0,060,060 @ @6,09,06 0

©® 8,606,000




22. HZ< AxtsHAlL.




23. =7} im, FER §m<ﬂ A}z mopo] 27to] 9Tt ol

A~
27e] W A AT FoIUE BEAGUL. AT FoUS
EE o 488 2779 Hols R m? YUk

1 1 1
Zomz @2701112 @ Tomz
1 2 1 2



24.

_ 2

FE2]9 3gkg A 0] Qe U7HE 527 770 Q5 Ut o] Wrt

£ 1270¢] %o HEgo] Yiro] gdoeH gt %o H kg A

E&=A] FoHA L.

©) @k ® 1=k ® 2=k
Gggg 608 60 ©
2T 427y

@ 360 g ® g






